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AND ENVIRONMENT 
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Note : Attempt questions from both the Sections 

as per instructions given. 

Section—A 

Note : Attempt any two questions from this 

Section in about 700 words each. 

2×20=40 

1. Explain the Coase Theorem. Discuss its 

limitations. 
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2. Derive the conditions under the Grossman 

model for investment in health to be 

optimum. 

3. Explain the concept of ‘total economic  

value’ of the environment. Discuss the 

various components of total economic  

value. 

4. What do you understand by ‘Market  

foilure’ ? How can state intervention 

overcome market failure ? 

 Section—B  

Note : Attempt any five questions from this 

Section in about 400 words each. 

5×12=60 

5. Define ‘Universal Health Coverage’. Discuss 

its advantages. 
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6. Do you think that government  

should invest in education ? Justify your 

answer. 

7. What is Income Inequality ?  

Explain how Lorentz curve measures income 

inequality.  

8. Bring out the two-way relationship between 

income and health. 

9. Explain how demand for health can be 

induced by suppliers of health. 

10. Explain the concept of ‘choke price’ with 

suitable examples. 
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11. “The conventional system of national  

income accounts is inadequate in capturing 

the importance of the environment.” 

Discuss.  

12. Bring out the role of various exogenous 

variables on the rotational length in 

forestry. 
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MECE–104 

,e- ,- (vFkZ'kkò) 

(,e- ,- bZ- lh-) 

l=kar ijh{kk  

twu] 2025 

,e-bZ-lh-bZ-&104 % lkekftd {ks= vkSj  

i;kZoj.k dk vFkZ'kkò 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % nksuksa Hkkxksa ls ;FkkfunsZ'k iz'uksa ds mÙkj fyf[k,A 

 Hkkxµd  

uksV % bl Hkkx ls fdUgha nks iz'uksa ds mÙkj fyf[k,A 'kCn&lhek 

700 izR;sdA 2×20=40 

1- dks,l izes; dh O;k[;k dhft,A bldh lhekvksa ij Hkh 

ppkZ dhft,A 
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2- LokLF; {ks=d esa b"Vre fuos'k ds fy, xzkWleSu izfreku ds 

varxZr 'krks± dh O;qRifÙk dhft,A 

3- i;kZoj.k ds ^ldy vk£Fkd ewY;* dh ladYiuk dh 

O;k[;k dhft,A ^ldy vk£Fkd ewY;* ds fofHkUu ?kVdksa 

dh ppkZ dhft,A 

4- ^cktkj dh foQyrk* ls vkidk D;k vfHkizk; gS \ ljdkj 

dk gLr{ksi bl foQyrk dk fdl izdkj fuokj.k dj 

ldrk gS \ 

 Hkkxµ[k  

uksV % bl Hkkx ls fdUgha ik¡p iz'uksa ds mÙkj fyf[k,A 'kCn&lhek 

400 izR;sdA 5×12=60 

5- ^loZO;kih LokLF; vko`fÙk* dh ifjHkk"kk nhft,A blds 

ykHk crkb,A 
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6- D;k vkids erkuqlkj ljdkj dks f'k{kk esa  

fuos'k djuk pkfg, \ vius mÙkj dk vkSfpR;  

le>kb,A 

7- vk; fo"kerk D;k gksrh gS \ le>kb, fd ykWjsat oØ ls 

vk; dh fo"kerk dk ekiu dSls gksrk gSA 

8- vk; vkSj LoLFkrk esa f}i{kh; laca/k dks Li"V  

dhft,A 

9- le>kb, fd LoLFkrk dh ek¡x fdl izdkj LoLFkrk 

vkiw£rdrkZvksa }kjk laizsfjr gks ldrh gSA 

10- mi;qDr mnkgj.kksa dk iz;ksx dj ^izfrcU/kd dher* 

LokLF; dh ladYiuk dks le>kb,A 
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11- ßjk"Vªh; ys[kkadu dh ikjaifjd i¼fr i;kZoj.k  

ds egÙo dks izxzfgr djus esa vi;kZIr jgrh gSAÞ ppkZ 

dhft,A 

12- ,d oujksi.k ds pØ dh yEckbZ ds fu/kkZj.k esa fofHkUu 

cká pjksa dh Hkwfedk dk fu:i.k dhft,A 

 

× × × × × 

 

 

 

 

 

 

 

 

 

 

 

 


